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Location  Component Page Item # Current Correction  
 

Lesson 3.1 Independent Practice, Manual 6 1 12 0
2

• =  12 1
2

• =  

 
Lesson 3  10:28 on the DVD      In the example P + 75 = 120, the 

one correctly, but when 
checking the solution by 
substituting 45 for P, the screen 
erroneously says, at the bottom of 
the screen, “The solution is 120.”   

work is d 
 
 
 
 
 
Lesson 3.3 Additional Practice, Manual 23 14 f = 11 f = -11 
 

Lesson 3.6 Independent Practice, Manual 51 20 2 2a c b= −   2 2a c b= ± −  
 
Module 3 Test A, Manual 55 2b b = 44 b = 42 
 
Module 3 Test B, Manual 58 7 h = 13 h = -13 
 
Module 4 Test B, Manual 93 1 3 1

4
x
+ =  3 1

4
x
− =  

 
Lesson 5.1 Guided Practice, Manual 97 4 x > -2 x >

-5    -4    -3   -2  -1     0   1    2   3    4     5 -5    -4    -3   -2  -1     0   1    2   3    4     
5

-5    -4    -3   -2  -1     0   1    2   3    4     5 -5    -4    -3   -2  -1     0   1    2   3    4     5 

 - 2 
 
Lesson 5.2  Additional Practice, Manual 114 14   
 

 
Lesson 5.4 Guided Practice, Set 1, Manual 127 3   

The last line on the screen 
should say, “The solution is 
45.” 
 



 
Unit B 
Errata Sheet – Page 2 
Revised Sept 18, 2007 
 
 
 
Location  Component Page Item # Current Correction  
  
Lesson 5.4 Guided Practice, Set 1, Manual 127 4 
  -5    -4    -3   -2  -1     0   1    2   3    -3    -2    -1   0  1     2   3    4   3    
 
Lesson 5.4 Guided Practice, Set 2, Manual 127 2 

-5    -4    -3   -2  -1     0   1    2   3    4     5  -5    -4    -3   -2  -1     0   1    2   3    4     5 

 

-5    -4    -3   -2  -1     0   1    2   3    4   5 
Lesson 5.4 Guided Practice, Set 2, Manual 127 3   
  -1    0    1   2   3    4   5    6    7   8     9 

 
Lesson 5.7 Independent Practice, Manual 161 5  
 
 
 
Lesson 5.7 Independent Practice, Blacklines 161 5  
 
 
 
Module 5  Test A, Manual 168 21b    x > -2   x < 3 x > -2   AND    x < 3 
 
Module 5  Test B, Manual 172 21b x < 2     x > -2 x < 2    AND    x > -2 
 
 
 
 
Lesson 6.1  Independent Practice, Manual 179 7  x = 6 or -9 x = 5 or x = -9 
 
Lesson 6.2 Guided Practice, Set 2, Mnual 185 2  x = 1 x = -1 
 

She earns more than $385 
each month before taxes 
are taken away

Also, in the solution steps, in 
line 3, replace 4x < -8 with –4x 
< 8 and 4x > -8” with  –4x > -8 

She earns more than $385 
each week before taxes are 
taken away.

She earns more than $385 
each month before taxes 
are taken away. 

She earns more than $385 
each week before taxes are 
taken away.



-2    -1     0    1    2    3     4   5    6    7     8 -2    -1     0    1    2    3     4   5    6    7     8 

-6    -5    -4   -3  -2     -1  0    1   2    3    4 
-6    -5   -4   -3  -2   -1   0   1   2    3     
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Lesson 6.3 Independent Practice, Manual  195 3 -0.5 < f < 7.5 f > 7.5 or f < -0.5 
 
 
 
 
 
 
Lesson 6.3 Additional Practice, Manual 197 7 -1.5 < y < 2 -6 < y < 2 
 
 
 
 
 
Lesson 6.3 Additional Practice, Manual 198 13 -4 < p < 0 No solution 
 
 
Module 6  Test B, Manual 217 20 -1 < g < 13 ∅  (empty set) 
 
 
Module 6  Test B, Manual 217 21 m ≠ 3 ∅ (empty set) 
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